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1 = goo E 600,000
2 = goo E 300,000
3 = goo E 160,000
4 = goo E 100,000
5 ("] g E 85,000
T6 = goo E 77,500
T6 = goo E 77,500
T8 = goo E 62,400
T8 = goo E 62,400
T8 = goo E 62,400
T8 = goo E 62,400
T8 = goo E 62,400
T13 = goo E 52,000
T13 = goo E 52,000
T13 = goo E 52,000
T16 = goo E 46,625
T16 = goo E 46,625
T16 = goo E 46,625
T16 = g E 46,625
T20 = goo E 42,500
T20 = goo E 42,500
T20 = goo E 42,500
T20 = goo E 42,500
T20 = goo E 42,500
T20 = ooogs2 E 42,500
T26 = goo E 38,500
T26 = goo E 38,500
T28 = goo E 36,500
T28 = gogo E 36,500
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goo
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goo

goo

goo

goo
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goo

goo

goo

goo

goo

goo

goo

goo

goo

goo

33,000
33,000
33,000
33,000
33,000
29,500
29,500
28,000
27,000
25,166
25,166
25,166
23,750
23,750
22,750
22,750
21,750
21,000

20,000
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